==
M & Ol & AF S S Al A
20228 < =& 3 2| LU Aot
AN Aote=ED
ZM: ol 2el
&t: ot=E2E (EEREED)
SM - B - O9I(SH) - HISAY - BaS il pEL" HIDS2
aot=ut 38,938,630 39,371,251 2432,621
= 2,811,000 2,811,000 0
= 2,660,000 2,660,000 0
£ 300,000 300,000 0
< 10,380, 100 10,380, 100 0
= 22,787,530 23,220,151 N432,621
St=& 22l 632,272 674,309 n42,037
St 2d 632,272 674,309 n42,037
SRS 20,642 22,400 1,758
308 AFXIEHHISOIE 3,242 5,000 1,758
07 MXIHHRES 3,242 5,000 1,758
OMlE P8 3Iot=HelAlE 2elH(2E3)
3,242,000&*12] 3,242 5,000 A1,758
Jl=digt & JHEALY 611,630 651,909 240,279
401 AlZHIZL 2| 611,630 651,909 240,279
01 Al&HI 611,630 650, 130 238,500
O33ot=HMelAd |2 11,500,000 11,500 50,000 238,500
03 A& 0HHI 0 1,779 A1,779
OAIZ20HYI 0 0 1,779 A1,779
Heas(4ot+=E1) 5,411,120 5,801,704 A390,584
LIS HeH K= 5,411,120 5,801,704 A390,584
FENLEEH dE 5,411,120 5,801,704 A390,584
701 JIElI HSEES 5,411,120 5,801,704 A390,584
01 JIEt=IHE =S 5,411,120 5,801,704 A390,584
O==ZNLSEH dE3 5,411,120,000& 5,411,120 5,801,704 A390,584
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A CERE)

2M -3 .- H2(3H) - A - LS 04| &koH J| & Hns2
MBI I} 14,955,238 16,280,478 A1,325,240
= 3,128,380 3,325,000 196,620
bl 4,611,345 5,358,823 NTAT 478
[ 476,500 476,500 0
2 6,739,013 7,120,155 381,142
Sl AlE AX| 6,004,500 6,948,500 944,000
= 3,115,000 3,315,000 200,000
p] 970,000 1,714,000 AT44,000
== 476,500 476,500 0
o 1,443,000 1,443,000 0
D25l T HX|(SEWESEEIH) 6,004,500 6,948,500 944,000
= 3,115,000 3,315,000 200,000
Il 970,000 1,714,000 AT44,000
[ 476,500 476,500 0
2 1,443,000 1,443,000 0
S22 HH|(2DX7-II2) 250,000 655,000 405,000
p] 250,000 655,000 405,000
401 AlEHIZ S 250,000 655,000 405,000
Il 250,000 655,000 405,000
01 Al&HI 250,000 655,000 405,000
ORDX7 5422 FHHIAFY 250,000,000 250,000 655,000 405,000
p] 250,000 655,000 405,000
SlaxiolE (M 2REISHRIAL AEAR) 613,000 813,000 200,000
= 421,000 621,000 200,000
[ 96,000 96,000 0
2 9,000 96,000 0
401 AlEHIZ S 613,000 813,000 200,000
= 421,000 621,000 200,000
== 9,000 96,000 0
@ 96,000 96,000 0
01 Al&HI 609,000 809,000 200,000

OHMD 2R5IaH2IAIL ALAIY

609,000,000 609,000 809,000 200,000
= 417,000 617,000 200,000
[ 96,000 96,000 0
2 9,000 96,000 0
SHARIRIE SHE(MI DREIAMLIAIL AEAIS-I|2) 0 192,000 192,000
p] 0 192,000 192,000
401 AlEHIZL S THI 0 192,000 192,000
Il 0 192,000 192,000
01 Al&HI 0 192,000 192,000
OXD 2R5IaH2IAIL ALAIY o 0 192,000 192,000
Il 0 192,000 192,000
SHARRIE SE(ANH DREIAHMLIAL SHAL-I|2) 0 57,000 257,000
p] 0 57,000 A57,000
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B2 SHEAE &
CI9l: BBOAE X (SBHESHIA) (el &8)
FA - BF - GR(3) - HNRAY - BYS Ofl &4 IIEH Hlusz
401 Al 28I LR THE| 0 57,000 57,000
| 0 57,000 A57,000
01 AlZt] 0 57,000 57,000
OAE BBOHIAE SHAL 02! 0 57,000 57,000
| 0 57,000 A57,000
BICIPl BBGHHRIAL ST (=2X7-0I2) 0 90,000 £90,000
5] 0 90,000 £90,000
401 Al 2B LR THE| 0 90,000 290,000
| 0 90,000 £90,000
01 AlZH] 0 90,000 £90,000
O=2XT ZZGH4E SLAK 02! 0 90,000 290,000
| 0 90,000 £90,000
sl 3,779,906 3.961,500 £181,504
| 831,445 831,445 0
2 2,948,461 3,130,065 A181,504
S EXIRAI (SR IH S 251H) 3,779,906 3,961,500 ~181,504
| 831,445 831,445 0
2 2,948,461 3,130,065 A181,504
SN (BBoE 29) 3,104,446 3,133,500 £29,054
| 831,445 831,445 0
2 2,273,001 2,302,055 £29,054
207 N 0,000 0 10,000
01 B 0,000 0 10,000
OBRZIIZAIE BRI (A 22) 200 2
10,000, 00021 14} 10,000 0 10,000
405 XHAHFISHI 138,946 178,000 £39,054
01 MM LS EFSH] 138,946 178,000 39,054
OBZoH-H2IAIL SBRRIME HHA 010124 &5
1,464,000 174 1,464 3,000 ~1,5%
ODYHIZII(0HROI) P
11,262,000k 14 11,262 15,000 £3,738
OSZNS ToC £FI1D| 2
63, 110, 000202014 26,220 160,000 £33,780
SHEHEIANE(BTo4E 2 L 21327 675.460 828,000 A152,540
401 Al2HIL R THE| 625,460 778,000 A152,540
01 AlZH| 625,460 778,000 A152,540
Odt+HelzeiXl M2l 310,280,002 310,230 360,000 £49,770
OBZI+H2IAE STLAROAILE JHe
259,070, 0002 259,070 283,000 £23,930
OtEsERRIME KN4 31,160 100,000 68,840
0BIERI0 & ATERN KX
19,500, 0002! 19,500 60,000 240,500
0SE (SR KX 11,660, 0002! 11,660 40,000 £28,340
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Hu: olace
CHol: G XIRAI (SR INE S5l (ol &)
2N - 3 - SI(3H) - MRAY - BES Ol &K I Hlnsz
OEZIIZNE 2UE(UHAR2) 2IHE 289
0 0 10,000 10,000
oD MRet 2 B3 13,380 10,000 3,380
= 13,380 10,000 3,380
SaA2R(SRMASLEH) 13,380 10,000 3,380
= 13,380 10,000 3,380
T e e E R 13,380 10,000 3,380
= 13,380 10,000 3,380
206 M=l 13,380 10,000 3,380
= 13,380 10,000 3,380
01 Mzl 13,380 10,000 3,380
OMEBIHEIT TRIIH0IE %2 S 7
13,380,002 13,380 10,000 3,380
=2 13,380 10,000 3,380
oA SEBFARY E7 4,873,782 5,076,808 203,006
p] 2,736,485 2,739,963 13,478
= 2,137,297 2,336,845 199,548
FOIR A (SEH LSS ) 1,777,371 1,780,849 ~3,478
g 1,602,371 1,605,849 £3,478
= 175,000 175,000 0
FOIRIZAIS Al =S 22| 20B2&t 2| 37,371 40,849 A3,478
p 37,371 40,849 ~3,478
101 Q1214 29,261 32,739 13,478
p 29,261 32,739 13,478
04 JRIHZRRS 2% 29,261 32,739 A3,478
OSEZAL L o124 1,022,002 1,022 4,500 13,478
p] 1,002 4,500 13,478
DTHLINAXIR (SRS 3,001,411 3,200,959 199,548
p] 1,041,674 1,041,674 0
2 1,959,737 2,159,285 199,548
IIEREHeIANE(SBHALE 29) 2,554,860 2,754,408 199,548
p 899,257 899,257 0
2 1,655,603 1,855,151 199,548
401 AlEBIZ 2 OH8] 529,771 729,319 199,548
01 Al&H 529,771 729,319 199,548
OMEIIERZ L HHEIA AIS2H0I0] 24
0 0 14,548 A14,58
OUEDIEZL H20 24 DN ¥ 20E
0 0 5,000 5,000
OZN H2lHl 372,000 552,000 180,000
04 JjERL 19,500, 00024 122 234,000 324,000 A90,000
oufel JHERL 11,500, 00024 122 138,000 228,000 A90,000
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